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Question Number : 1 Question Id : 3354725131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Leather complex in Madhya Pradesh has been established at ______ | T ues B ST mIHIEEE ___________ H
T T mar B
Options:

1. % Dewas | 299

2. % Ujjain | 3=

3. ® Chhindwara | R=Eaer
4. % Shajapur | A=

Question Number : 2 Question Id : 3354725132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which state is the Melghat Tiger Reserve situated? | AATHE aTe T4 oFe =0 H 9T 27

Options:
1. ¥ Maharashtra | AENIE
2. % Madhva Pradesh | FeT 0gT

% % Eihar | Tgw
4. % Goa | T

Question Number : 3 Question Id : 3354725133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where was the first medical college established in India? | awaT # Gewerd RrcaTa AT T5T S4TUT ST =T
oar7

Options:

1. ¥ Kolkata | Fid@mar
2 % Murmbai | 9%

3. % Chennai | @98

4 % Pune | qor

Question Number : 4 Question Id : 3354725134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich ancient Indian city on the banks of river Kshipra, famed for its scholarship, is found in Madhya
Pradesh? | meg uear # e+t 13g & o0 miekg T90T 92T & 3¢ W0 %19 9T U= 9 14 957 02T a7 27

Options:

1. ®* Ratlam | ¥adH

2. % Indore | 821

= ¥ Ujjain | 3=

4 % vidisha | fafgem

Question Number : 5 Question Id : 3354725135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

International Youth Day’ is celebrated on ______________ of every year. | SATIEIE a1 [gad, Haa® o4
T HATHT AT 21

Options:
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1.9 12th August | 12 e
2. % 1st August | 1 STET
% % Sth August | 5 ST
4. % 17th August | 17 a7ed

Question Number : 6 Question Id : 3354725136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich commission has examined the centre-state relations? | 5T T = dhe-Tr4 & fraal @ woia for 87

Options:

1. % Sarkaria Cormmission | GEETT ST
2. % 5ri Krishna Cormrmission | T g7 s
3. % Mudaliar Corrmmission | GETiee s
4. % Kher Cormrmission | &% T2

Question Number : 7 Question Id : 3354725137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

wWhich former Air India CMD was appointed as the Railway Board Chairman? | T3T 51237 & & qd 91 0mar &
ToAe A1 WSTR[ T R T e

Options:

1. % Rajiv Bansal | T @94

2. % Chander Uday Singh | @2t 924 &%
3. ¥ aAshwani Lohani | ra@E-t ager

4 % Nripendra Mishra | g fem

Question Number : 8 Question Id : 3354725138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

August 2915 celebrated as the MNatioral Sports Day 1o cormnernorate_ 29 eETEt o ST
T TP e Toae o 0 # I =147 &1

Options:

1. ¥ India’s first ODI World Cup Championship victory | AT o Ugel SIS TE o &0 S uaeian Jia

2. % the founding of Sports Authority of India | STEE T He O 8T SI0ET

2. ¥ the birthday of hockey wizard Dhyan Chand | FTel & SR £4T=Ig, & SHie

4, % the date on which India won the first ever Olympic medal | F9 38 0 IR = U5t a7 A0S T2@ AT 7

Question Number : 9 Question Id : 3354725139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
©n which date was the emergency declared in India? | &0 T ®T9RT # SUEEA (SACAGT ST 0T & TS 217

Options:

1. ¥ 25th June 1975 | 25 97 1975
2. % Z0th July 1976 | 30 AT 1976
Z. % 1stJuly 1977 ) 1 A% 1977

4 % 30th June 1976 | 30 97 1976

Question Number : 10 Question Id : 3354725140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
The percentage of earth's surface covered by India is_____ | ATET BT ST FT -YE WM al

Options:
1.9 24
2 % 44
3% 20

4 % 38

Question Number : 11 Question Id : 3354725141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

mm;f%gpsmm in as the Chief Justice of India in August 20177 | 8FFd 2017 § WA & G ~qEmeia & &0 § e
A= :

Options:

1. % ].5. Kehar [ <09 %57

2. ¥ Dipak Misra | Sive e

2. ® Kurian Joseph | Fi- FEE
4. % Nirmal Jain [ Fda 39

Question Number : 12 Question Id : 3354725142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ghatigaon Wildlife Sanctuary is located near which district of Madhva Pradesh? | ST avareila SMaRIg B2
AT o Tope Totet o o e 27

Options:

1. % Alirajpur | SERETT

2. ¥ Gurlior | TR

3. % Jhabua | HTET

4. % Ehopal | AT

Question Number : 13 Question Id : 3354725143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

AsS per Census 2011, the most populous state of the country is

| AT 2011 % AR, 5 W Had Tt

Options:

1. % Uttar Pradesh | 39% 0

2. % Madhya Pradesh | T 0
3. % andhra Pradesh | ST w84
4. % Rajasthan | e

Question Number : 14 Question Id : 3354725144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Coal bed methane has been found in | WA EdE A ____ H O T

Options:
1. ¥ Morena | §eAT

2. % Betul | =g
Z. ¥ Shahdol | 51
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4. % Indore | 22X

Question Number : 15 Question Id : 3354725145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A 18th century Havell in Sheopur on the Sheopur-Earoda Roadis _______ ) TTR-GE T e W AR H 18 off
SEICEUC -] 7
Options:

1. % MNayagaon | TamTe

2. % Palpur | UTaqt

% % Naregaon | AT

4 % Char Chowk | TR =

Question Number : 16 Question Id : 3354725146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where are the cave inscription found in Rewa? | UaT § THT 79 (3/d6@) Fgl 0T 14T 27

Options:

1. % Keoti | @dat

2. % Eichia | [@fg=r

= ¥ Kewra | 9T

4, % pachmarhi | T=HET

Question Number : 17 Question Id : 3354725147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The historical fort of Mandla District is in .| HEAT e @ Ui T e "

Options:

1. ¥ Ram Nagar | TH =%
2. % Ghughri | goel

= % Eichia | [@fg=r

4. ® Mawai | AT

Question Number : 18 Question Id : 3354725148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Name the famous museum of Gwalior. | TETEaT & Withg TUgTee @ A0 Fd10

Options:
1. ¥ Gujari Mahal Museurn | T= Hgdl GUgTea
2. % Rani Durgavati Museurn | T giied ! §UgTe

Z. % Maharaja Chhatrasal Museum | FERTAT 5391 GUgTAd

4, % Yashodharman Museurn | T SUgEg

Question Number : 19 Question Id : 3354725149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Jageshwar MNath Mandir located in Dameh district? | ZAE 6 § E9F ATPIE A1 §iat #5757

Options:
1. ¢ Bandakpur | FEF
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2. % Kundalpur | FUZaAyt
3. % Almora | Sf@ATET

4 % Kalubhar village | FTaR T

Question Number : 20 Question Id : 3354725150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In which one of the following places is Silhara Caves located in Madhya Pradesh? | Teg ndy # 79T Megwr TEm
FATET 6 e e 2

Options:

1. % Sidhi j ==t

2. % Bhimbetka | HiAezar
3 ¥ Anuppur | ST

4. % vidisha | &z

Zeneral Maths and General Aptitude

Section Id : 335472119

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section I1d: 335472119
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ratio of the ages of mother and son is 7.3, respectively. If the sum of their ages is 0, then what is the

%innf?erence in their ages? | AT % G T ST HT 0T FHL 723 31 T ST S FT AT 60 § TV Ik ST HT S T

Options:
1. % 42
Z % 18
3.9 24
4. % 20

Question Number : 22 Question Id : 3354725152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the sum of two nurnbers is 1080 and their HCF is 26, then one of the pairs of these numbers is: | =T weEgTat
T T 1080 § Ud I Hgod GATdcd 36 B, Ta 54 |eare! & 0w I &

Options:
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1. % 38and 1042 [ 38 0T 1042
2 ¢ 252 and 828 | 252 U9 825
3. % 398 and 690 [ 395 UT 690
4, % 472 and 608 | 472 UF 605

Question Number : 23 Question Id : 3354725153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The two factors of the polynomial p(x) = véx® + (3v/3 + 2v2)x + 6 are: / 9gYG plx) =

Véx? + (343 +2V2)x+ 6 & & IUEES §:

Options:

;o (vV3x +2) and (3 + v2x)

(V3 +2x)and (v2 + 3x)
2 %

_— (wﬁ— 21‘) and [\,’E— 3x)

(\,@x — 2) and (3 + wﬁxj
4 ®

Question Number : 24 Question Id : 3354725154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
9% =?

Options:

Question Number : 25 Question Id : 3354725155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Thlew.b.lle|c:|fﬂ it 3898 FT AT &
/1089 /1089

Options:

1. % 36/43
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2 % 26/43
3. ¥ 26)33
4. % 34)43

Question Number : 26 Question Id : 3354725156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the average. | ¥d FH&iag

45, 74, 26, 42, 15
Options:
1.9 41
=z w42
3. % 43
4, % 44

Question Number : 27 Question Id : 3354725157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The cost of 125 shirtsis Es. 1 1,250 and the tI"ElI'lSpOI‘tEltiOI‘l charges are Bs. 275 Fora 20% pI‘Ofit, the SElIiﬂg
price of each shirt should be: | 125 FHM & @0d 11,250 07 § 3T TiagT JoF =75 FI7 21 20% AT & T30, Tqdw
U FT Tegrer Ger BT 1B

Options:
1. ¥ ERs 11160

2. % Rs 112.00
3. % Es. 11250
4 % Rs 11150

Question Number : 28 Question Id : 3354725158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
IfAB=BC=10cmand CD =DA =17 em, £ADC = 60°. Then the diagonal AC equals to: /
g AB=BC =10 @ 3i{R CD=DA =17 @1, 24DC = 60° &, o @7 AC 5TH

ETIE!TE%:

TN
___.-"'F' _.l LY
f'; o N
O\
L 1'\l.l
Options:
1. % 15
2 * 15
3917
4 % 14

Question Number : 29 Question Id : 3354725159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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& square and a triangle have equal perimeters. The lengths of the three sides of the triangle are 6.1 cm, 8.2 cm
and 9.7 cr. What is the area of the square in 5q.crm.? | U =11 &% T TR & 9ieATd s 51 Bl & J1 y=mait @t
wee 5.1 HHY, 8.2 HAT T 9.7 FHT 1 o w1 A H6T W Sk w7 g7

Options:
1. % 32
2. % B4
2. ¥ 36
4 % 384

Question Number : 30 Question Id : 3354725160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the value. / AT AT K|

(@5%+ @ *25*2Y)°
Options:
1.¥v 1
2. % 2
2% B
4 % 3

Question Number : 31 Question Id : 3354725161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Given a rectangular array of numbers with 40 rows and 75 colurmms, Ajay adds the numbers in each row. The
average of his 40 sums is A. Bama adds the numbers in each colurmnn. The average of her 75 sums is B, The
value of &(Bis___. | 40 T 3T 75 ®TaAl & | gl & 0w AT qRu Sf T8 21 SR o nedd o # weerat @ A
FEH 40 AT FT AT A T FTHT = ol FiaA H @1 B ASN IEE 7S A FT AT E R AEFIHA _________ 2l

Options:
1. % 84225

2. % 5/15
2%1
4 % 158

Question Number : 32 Question Id : 3354725162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_]El‘j.FEl 15 SEgEElI'S old and her son Bharatis 11 wedrs old. In howr ITANY yedrs will Jaya e twice as Eharat's age?
| ST 36 99 T o I [F T 11 o w7 g1 Fra aui #§ 9, 9w @ arrga»rrgptﬁs‘rmm%?

Options:
1. % 12
2. ¥ 14
3% 16
4 % 18

Question Number : 33 Question Id : 3354725163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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If a bullock cart trawvels 24k in 2 hours and a train travels 120km in 2 hours, then the ratio of their speeds is:

| AT T ST 3 uE H 24 Rt & A #d T § aur Uw et 2 w0 H 120 Tt A T 81 a1 S aal 7 S0
Options:

1. % 24120

2 ¥ 215

3% 12024

4. % 115

Question Number : 34 Question Id : 3354725164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A, B and C working together complete a work in 18 days. A alone will complete it in 36 days and B in 60 days.
In how rmany days will C alone cormplete the job? | &, B S C U @1 & ®¢d g0 0% @14 @1 18 T # qof e 31
T A IH 36 oAt # oW B =8 60 Toat o qof e 9 Foraey oAt # ardbalr C 56 @1 &1 quf speam?

Options:

1. * 60days
2. % F0days
3. % B0days
4. 9 90 days

| 80 f&
| 70T
| 80 f&=
} 90 T&=

Question Number : 35 Question Id : 3354725165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the 15th term of the series 20, 15, 10, .7 [ aig@A 20, 15, 10, . § 1597 ug F4T 5117

Options:
1. % -40
2. % -45
3. ¥ -50
4 %0

Question Number : 36 Question Id : 3354725166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The sum of the ages of Yogesh, Prakash and Sameer is 92 years. Ten years ago, the ratio of their ages was 2:3:
4, respectively. What is the present age of Sameer? | T, W aﬁTﬂﬂ%’Tfﬁ ST T T HA 93 79 81 10 91 g,
TAHT | T ST FEL 2: 3 4 oM FHIT ST TS S T4 57

Options:

1. % 322 vears
2. % 24 vears
2. % 34 vyears
4. ¥ 38 vears

| 32 ad
| 24
| 34 T
| 38 o

Question Number : 37 Question Id : 3354725167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The difference between the greatest and the least four digit nurmnber that begins with S and ends with 5i5: | =

U AT S & A0 5 aTcit Bgay S Agan o ik SEmel & i a7 0T &
Options:

1. % 950

= ® 590
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3. % 900
4. ¥ 990

Question Number : 38 Question Id : 3354725168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the area of a square is 57121 square cm, then what is the side of the square? | oI1E U a7 &7 83FA 57121 =0t
AT 2, T o T ST BT W FT 27

Options:

1. % 229cm | 229 9T
2. % 331cm | 331 99T
3 % 231cm | 231 94T

4 % Z3acm | 239 9T

Question Number : 39 Question Id : 3354725169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average of the numbers 254, 346, 454, 546, 654, 746, 854, 946 is
T4E, 854, 94F H aEd

Options:
1. # 546

2 ® pgc4
= % 500
4. ¥ None of these | T T 1 T51

.| Tgaret 254, 346, 454, S48, 654,

Question Number : 40 Question Id : 3354725170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The numbers 111111111 is divisible by: | T&7 111111111 6% ZRT idv=a g&T &

Options:
1.¥Zand 9| 30d9
2. % 9and 11} 97a11
3 % Z3and 1130911
4 ¥ Sand 1l j50a11

General Hindi

Section Id : 335472120

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
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Sub-Section Id: 335472120
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

X Gigd el @i o arer Jae i @ g -
Options:

1. % AT

2. ® aEr

3. ¥ geld

4. & foarf

Question Number : 42 Question Id : 3354725172 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e . TEAT &

Options:

1. % aigey
2. % AR
3. ¢ g
4. % et

Question Number : 43 Question Id : 3354725173 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
af afiv ar I # -
Options:

1. % w=rd

2 % e

= o aEmaTg H

4. ® g @ wig A5

Question Number : 44 Question Id : 3354725174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

STTT Gl S TrET T ____________ ST
Options:

1. « gieomm

2. ® giomg

z % gl

4 & gidmm

Question Number : 45 Question Id : 3354725175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“EHT 7 e TIH A1 [T oM’ &8 Ay & Tow |t f90Ta @ 2 S

Options:

1. % 27
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2. % g
3%
4 ¥ ot

Question Number : 46 Question Id : 3354725176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
‘AT W i g # H ® e AT Ey

Options:

1. % Tty
2 % g

3. ¢ g

4 % IR

Question Number : 47 Question Id : 3354725177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ty W W TS AT B & o U e P A S e ar sy

Options:

1. % g

=, % T
3. % =gt
4, o FeirET

Question Number : 48 Question Id : 3354725178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
AT AR o oI U deg M H A E@T AT 87

Options:
1. % gream
2 ¥
3 % arg
4 % g

Question Number : 49 Question Id : 3354725179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Oitzdg @1 ATe dedg Mg A @ arg?
Options:

1. % gor+dE

2 % givtzig

z. ¥ gliteg

4 % g+

Question Number : 50 Question Id : 3354725180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT W AT eg g H & w I A ge
Options:
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1. T
= % fEaft
. % F=

4. % HIHAT

Question Number : 51 Question Id : 3354725181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘ST Uewd & &1 g T H W Wi 87

Options:

1. % ggar

2. ® aMEr
3. % S
4. FETEE

Question Number : 52 Question Id : 3354725182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T T Sed § g # & # 91 gHe 87

Options:

1. ® Jcqey 9HH
2 % TmremEE

3. % AT e

4. ¢ gty gue

Question Number : 53 Question Id : 3354725183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T O TEET geras @ el P A e arey
Options:

1. & qia w

2. % guwEr

3. % e

4 % T FAT

Question Number : 54 Question Id : 3354725184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“HHTE T g &0 g # § @ arge

Options:

1. & |
2. ® gHAmE
3. % gHtE
4 % \AfEw

Question Number : 55 Question Id : 3354725185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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TR TG | 18] Mg T Fie et Te o AT E1
AT T TR e ITTAAT el et STt &l
T Uil # Ty A S @t e 27

Options:

1. ¥ 9HE o
2 % g
z % o
4. % ik

Question Number : 56 Question Id : 3354725186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

"IeT Foa v A, CIGRGEL
T H-a i |, 5 g
H I AT aw R 5 J5f fowed gimu?

Options:

1. % §dy sAaw
2 % 27 AAw
3. ¥ T aTEE
4. ¥ THF AART

Question Number : 57 Question Id : 3354725187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

“FHF UTH a1 89 57 9 A9 HT AT e ¥ g -
Options:

1. & o5 TFaqr o= 81

2. % JEF U S5 o9 gl

% % gg g=T e B

4. % T IHE U Tpd o ARl 57

Question Number : 58 Question Id : 3354725188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e I T it H i 6T SEw N g -

I =led 9 el e 02 3
Wwwﬁ%wﬂm
Options:

1. & JE0yT SEF

2 ® TF TAFN

3. % JUAT SEE
4 ® IOw AEwW

Question Number : 59 Question Id : 3354725189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=t vt # ToFe @ T FET AT -
Options:

1. % dRg®t
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2, % T TH @
3. ¢ SR T @
4 ¥ AgE

Question Number : 60 Question Id : 3354725190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T T 1T T e 87
Options:
1. % Hegd
2. ¥ Tger
3 0% 3
4 % ST
Fural Econorry and Panchavati Eaj
Section Id : 335472121
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472121
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Fanchayat Faj systerr was MOT prevalent i1 which of the following regions before reorganization of the state
of Madhya Pradesh? | Teal UH T & [T & Ugel T & H T OF saaeat @] =51 &1?

Options:
1. ¥ Mahakaushal | FETRIIA

2. ¥ Bundelkhand | gZA9s
= % vindhya Pradesh | e maar
4. % Madhva Bharat | 7ed AT

Question Number : 62 Question Id : 3354725192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Inn Madhyva Pradesh, at least how many reetings of a Gram Sabha are to be convened in a yeary | YT 1;I%\'~?T'~E|L

e oY H T & T AT T @ T Sa gens o S [ a7
Options:
1. v 4
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> ® 3
3 %2
4 ® 1

Question Number : 63 Question Id : 3354725193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which among the following is NOT a variety of silk in Madhya Pradesh? | Taieie # & #1 €@f U 7w wea # v
T ferfereraT et &

Options:
1. % Mulberry | Heanl
= % Tasar | TO%

2. ¥ Rasi | Y
4 % Muga | gm

Question Number : 64 Question Id : 3354725194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mukhvya Mantri Kaushalya Yojana pertains to

Options:

1. # Finance for agriculture | #1957 97
2. ¥ 5kill development | F19a @

3. % Dairy developrnent | 24 B

4 % Land developrment | SO e

Question Number : 65 Question Id : 3354725195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which :StEltE 15 the headquarters of Indian Institute of Wheat and EE[I'IE‘}.? Eesearch located? | EI Ezlq EI Fé ﬂﬂ
AT 2R1e UE avat Toere @ qreamer forey v 1 el 27

Options:

1. ® Punjab | 7=

2 ¥ Haryana | gR=mm

3. % Madhya Pradesh | Te[ 0T
4. % Rajasthan | T=eam™

Question Number : 66 Question Id : 3354725196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The objective of Pradhan Mantri Adarsh Grarm Yojana is development of villages: | W= STE sl UTH =T @1
J2o e T Tt @ Hee

Options:

1. # adopted by the local Member of Parliament | ST 6 G ZT T 600 S @16 T
2. ¥ With 50% or more 5C population | SO% 3T ST THET STaTe! ale T

Z. # adopted by Member of Legislative Assembly | T W6 9264 g1 TS @0 A 91 T
4. % Chosen by the Zilla Panchayat | FaT T=ITa gy ===

Question Number : 67 Question Id : 3354725197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
What is known as e-MNAM 7 | E-ATH & &7 H F97 =7 A197 57

Options:

1.p # award for best farmer of each state | Ued® T4 & FepHE A & W0 [EwR

2 % Online market (2-trading) for non-farm articles | TR-F9 gegall & @0 AR TR (E-20T07)

=, ¥ Online market (e-trading) for agricultural commodities | FY JeUTEl & 0 HTAATET S (S -2
4 % pward for taking up water CONServation | Fe AL F @ ol TERmT

Question Number : 68 Question Id : 3354725198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
NABARD was established on the recornmendation of: | ETETET & Gqid W A=2 S S0 &1 T

Options:

1. % Public Account Cormmittee | Ulese STFIIT FHT
= % Shivaraman Cormumnittes | THawmd woeT

3. # Narsimharm Cormmittes | ATGFEA ®HT

4 % None of the above | IWigd § & F1E 51

Question Number : 69 Question Id : 3354725199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Madhva Pradesh Fisheries Act was enacted in: | T T2 AT U SITe=am

Options:
1. % 1937

> ® 1945
3 ¥ 1948
4 ¥ 1956

Question Number : 70 Question Id : 3354725200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is the best source of protein? | FaARET § & B9 A7 Wi ®1 T8 S8 7T 57

Options:

1. # pulse grain | 1A &M
2. % milk | 39

3. ® grain | aFM

4. ¥ soybean | HETEE

Question Number : 71 Question Id : 3354725201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is empowered to validate the SECC data to select the beneficiaries under PMAY-G? | HUATaE =T % 959
AT T =2 Wee o Tol] e T 22T T HTvel Fe BT SATEEH Tore 57

Options:

1. ¥ RD& officials | ST afE@meT

2. % Gram Sabha | TTH 947

3. % PWD Engineers | MiZerga! a1+a%
4. % BDO | St
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Question Number : 72 Question Id : 3354725202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwho is the Minister for Farmer Welfare and ﬁﬁ%érit:ulture Deweloprent Department in Madhvya Fradesh? |
ez § TopaT seaT o i T fam @ 34T e 27

Options:

1. ¥ Mava Singh | /T &%

2. % Umashankar Gupta | I AT
= % Paras Chandra Jain | TRT o =T

4. ¥ Gourishankar Chaturbhuj Bisen | TTsa g faga

Question Number : 73 Question Id : 3354725203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which is the agency engaged irgraroviding solar lighting to villages in Madhya Pradesh? | 7e 0 # Ml & oo
T TSl T Fl aTe E‘g“eg FI Hl 57

Options:

1.IO # Madhya Pradesh Rajya Eijli Board | W 09 T4 &e! a8

2. ¥ Madhya Pradesh Urja Vikas Nigarn Lirnited | W[ 054 F=1 T m wifes

z. % Madhya Pradesh Rural Electrification Corporation | He W& ¥ geiers Wb T

4. % Madhya Pradesh Sclar Energy Development Corporation | T Wesl e T SaadHe S

Question Number : 74 Question Id : 3354725204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the approximate percentage of funds allocated for pulses under Mational Food Security Mission for
2017-187 | 2017-18 & 1oy T8 91 Gea 10 & agd arat & Tog srafed e &1 mﬁaﬁww%

Options:

1. % 40%

2 % 50%

3. ¥ B0%

4. ® 75

Question Number : 75 Question Id : 3354725205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MName the farmer centric TV Channel launched by the PM Narendra Modi on 26th May' 157 | We=H=T Atg A&
EWRT 26 A% 2015 o o ToFaT tiivad clal oiel @7 S0 TomaT Tar?

Options:

1. % Krishi TV | g it

2 ® Harith TV | gita &1t

3. % Kisan TV | fpae ot

4 « DD Kisan | 221 e

Question Number : 76 Question Id : 3354725206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Central Soil and Materials Research Station is located in: | Hed igel U8 Ao frad eaqer (@ Ha7 e #eaumar
e ¥ ) T e w e g
Options:
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1. % Mumbai [ §Ig

2 ¥ Delhi | feem

3. % Kolkata | ieeedr
4 ® Chennai | @g8

Question Number : 77 Question Id : 3354725207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The chjective of Shyama Prasad Mukherji Rurban Mission is developrment of

WITRAT ______ T e 21

Options:

1. % well planned rurban clusters | Fed Foaeet &1 HaHd AT
2. % Individual villages | goieTa T

3. % Serni-urban centres | SRg-E g

4. % Urban centres | S5 &g

Question Number : 78 Question Id : 3354725208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IFFCO stands for: | e FEiAiET @ oy wgd T e g

Options:

1. ¥ International Farm Fertilizer Company Lirnited | SEe-19Md BTH TATEaT #uT miies

2. ¥ Indian Farmers Fertilizer Co-operative Limited | S99 BWAY Bl ATga @i e
% % Indian Farmers Finance Corporation Limited | SIS BHE BT FHH HiRE

4. ¥ International Farm Finance Company Limited | Seiaa=a BTH BIE4d ST wiies

Question Number : 79 Question Id : 3354725209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Employment in the primary sectords mainly found in

Options:

1. # Metropolitan cities | BgTceT S50
2. ® Towns | A%

3. % Cities | a7

4. ¥ Rural areas | TTHIT &3

Question Number : 80 Question Id : 3354725210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Mational Wasteland Developrment Board was set up in____. | TR s=7 i f5wra 912 (F99d deeois 2aauie
1) T FIAT )|

Options:
1. % zo058

= % 2001
Z. ¥ 1985
4 # 1991
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Cormputer Knowledge

Section Id : 335472122

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472122
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The fastest, most powerful and most expensive category of computer is called_______ | FHEET & A 9,

Options:
1. % Super computer | U wHIGET
2. % Personal cornputer | TEAH FHILT

3. % Mainframe cormputer | BHE FHIET
4 % Desktop computer | SHFSIT FHIIET

Question Number : 82 Question Id : 3354725212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
__________ 15 the shortcut key used to distribute contents evernly between margins in M35 word. |

AMEHT Gl p AT SUANT AT T2 H TR & o= JH &0 § Fee T o Tl T AT )
Options:

1. % CTEL+L

2 % CTRL+E

3. % CTEL +R

4. % CTREL +]

Question Number : 83 Question Id : 3354725213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A ___ is a visual or graphical representation of an algorithmm. 0% __________ T TS| & CEuk|

Options:

1. ® program | WA
2 ® systern | TEEER

3. % data | 21T

4 ¥ flowchart | T

Question Number : 84 Question Id : 3354725214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
________ is a powerful tool use to create and format spreadsheets. |

ToIT W d §IF aTelT o ST aTel! oo gl
Options:

1. ¥ Adobe Photoshop C5 | USTd Bzt S
2 % Microsoft Office Power Point | ATE® MITE ATHA Hlat JaT5e
3. ¥ Microsoft Office Excel | A5 MIde AITHH TFa

4 % Mozilla Firefox | B HT BTG TET

izl @ 0T we &7 B @ &

Question Number : 85 Question Id : 3354725215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The first page of Website is termed as: | J@Ee & Ugel U @1 40 Fg1 14T &

Options:

1. % Bookmark Page | @R O

2 % HTML Script Page | Ueie UAUH TEFqe o
= ¢ Home Page | WO

4 % JAVA Script Page | STaT ege U

Question Number : 86 Question Id : 3354725216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& group of 4 bits is known as: | 4 &E8 &7 90 30 &7 § FH1 9147 &
Options:

1. ® Byte | aEe

2. % Kilobyte | faraEs

3. ¥ Nibble | e

4. % Megabyte | HEES

Question Number : 87 Question Id : 3354725217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which of the following is used to replace a word with its synonym in MS Word? | TATT 72 H UF g 91 90 98
T e, T Fae- o Tol] Tt AT (T AT 87

Options:

1. ¥ Thesaurus | ¥ERE

2 % Find & Replace | TAT 3 95T (F15S 7 )
% % Copy & Paste [ ®T07 &Y e

4 % Find & Correct | AT X 31 F (B152 4T FFe)

Question Number : 88 Question Id : 3354725218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

______ is a system software to facilitate editing of text and data. |

: T e |ireder § 4t dge oK Eer &t
ST &)

Options:

1. ¥ MS Powerpoint | THIH WTaiqamse
2. % MS Paint | TATE dT

2. % MS Publisher | TATT Tlesran
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4 % Editors | T2

Question Number : 89 Question Id : 3354725219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Srnartart is the feature of: | AR 18 SEHT Bl &

Options:

1. ® Photoshop | izl

2. % Tally | ¥

= ¥ MS Word 2007 | gHIR I8 2007

4, % CorelDraw | FAST

Question Number : 90 Question Id : 3354725220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which button is used to bring down the active window to the taskbar? | T Te= &1 IU=T, UlFed et &1 THFar
T AT o Tery o =T 57

Options:

1. % Close | Fadrd

>  Minimize | THfmES
3. ¥ Restore | ToeR

4. % Help | 3

Question Number : 91 Question Id : 3354725221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The two basic parts of URLS are: | URLS & o Hrd 97T &;

Options:
1. ® ICP|IF

2. % TCPJIP and ISP
3. ® TCFand FTF

4. % The protocol and the domain name | TR 1 ST =37

Question Number : 92 Question Id : 3354725222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A computer has more than one processor which is known as: | UF & 8@ 6T a1 THIET FRATal E

Options:

1. ® Uniprocessor | Ji-UTEaET
2 ¥ Multiprocessor | Ae HIEET

3. % Multithreaded | AT RIZS
4. % Multi-meter | TAc-HieT

Question Number : 93 Question Id : 3354725223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In M5 Excel 2007, arranging of data in a logical sequence is knowr as: | STET® ATEd H1at H Jaaiesg wi-ar
TEFAT &

Options:
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1. % Sorting | /T

2. % Searching | @

3 % Classifying | FATEMEET
4 % Reproducing | T

Question Number : 94 Question Id : 3354725224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a hardware? | FARET # € #H @1 UF gredow g 7

Options:
1. ¥ Assemnbler | ST
2. ¥ Server | HdT

3. % Compiler [ #HIEAT
4. % [nterpreter | EeEUET

Question Number : 95 Question Id : 3354725225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The rmain processor of the computer is held by: | FHIRET FT TGT WEEE 50F G/ ddicd a7 T &

Options:

1. ¥ Motherboard | Agtale

2. % Power Supply | 9l A0S
% % Keyboard | #1-a12

4 % Monitor | BT

Question Number : 96 Question Id : 3354725226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Excel stores numeric date and tirme as: | THds, 221 #K S50 &1 50 &7 § T2 7T

Options:
1. % Text Data | e 22T

2 % Nurmbers | Fad

= % Formulas | BHATE
4 % Boolean | et

Question Number : 97 Question Id : 3354725227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
____________ is MOT an antivirus software. [ ________ UF U ITEd A1Fedy Tg1 2]

Options:
1. ¥ DEMS | ERigATe
2. ® Mcafee | AdhT

3. % Avast | TONT
4 ® Avira | aERT

Question Number : 98 Question Id : 3354725228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
__________ i used to protect data and password. | ____________ & IYAN, ST A UGS 1 & o oy Far <Tmar 2l
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Options:
1. ¢ Encryption | Ui-qad
= ® suthentication | g
= ¥ vVerification | ST

4. % Cormnputer | FHIEET

Question Number : 99 Question Id : 3354725229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_________ is é’clh'? glank space outside the printing area on a page. | T% U o T T & a5t F7 1 a0

Options:

1. % Margin | AT
2. % Header | 327
3. ® Footer | HeY

4. % Clipart | s

Question Number : 100 Question Id : 3354725230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which application will you use to write a business letter? | &m0y 0w Tea-a det e & oy o qusiterar @1 =i

Options:
1. % MS Word | THUF 2

2 % M3 Excel | THIE TFEA
3. % MS PowerPoint | THTH TRz
4. % MS Access | AT UFEd
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